Trigonometry - 7.2 - Law of Cosines & Area October 17, 2016

Assignments for the Week of Oct. 17
e Read7.1-7.3
* 45 minutes of Khan Academy
» Textbook assignment due Friday 10/21:
7.1 #1-21 odd; 29,30,33,34,35 Law of Sines

e 7.2#9-19 odd Law of Cosines
#25-290dd; Area
#38,43,46,47,48 Law of Cosines
o 7.3#37,4143 word problems with Law of Sines/Cosines

Test #4 - Friday, 10/21
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The Law of Sines
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The Law of Cosines
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7.1/7.2 Area of a Triangle
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|
_ \ = the preduck

K=z —acsinR the sine of fhu
nclvdud anjle,

Find the area of the triangle.

A=50°b=13cm,c=6Ccm
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7.1 #28
The longer side of a parallelogram is 6.0 meters. The measure of angle BAD is 56°

and a is 35°. Find the length of the longer diagonal. /&DC = 130° =5 5 *
D G o C
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7.2 #41
The rectangular box in the figure measures 6.50 feet by 3.25 feet by 4.75 feet.

Find the measure of the angle © that is formed by the union of the diagonal shown
on the front of the box and the diagonal shown on the right side of the box.
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